

# TWO-PARAMETER GENERALIZED WEIGHTED FUNCTIONAL MEAN

ZHEN-GANG XIAO, ZHI-HUA ZHANG, V. LOKESHA, AND K. M. NAGARAJA

ABSTRACT. In this paper, a generalized weighted functional mean is defined. This includes as special cases various generalizations of the two-parameters means. Some elementary properties are listed. An explicit form is given for the special case when all variables have the special weights.

## 1. INTRODUCTION

The generalized weighted means of the function  $f$  with weight  $p$  and two parameters  $r$  and  $s$  are defined in [1] by

$$(1.1) \quad M_{r,s}(f; p; u, v) = \begin{cases} \left[ \frac{\int_u^v p(x) f^r(x) dx}{\int_u^v p(x) f^s(x) dx} \right]^{\frac{1}{r-s}}, & (r-s)(u-v) \neq 0; \\ \exp \left\{ \frac{\int_u^v p(x) f^r(x) \ln f(x) dx}{\int_u^v p(x) f^r(x) dx} \right\}, & r = s, u - v \neq 0; \\ f(x), & r = s, u = v; \end{cases}$$

where  $u, v, r, s \in \mathbb{R}$ ,  $p \geq 0$ ,  $f > 0$  integrable functions on the interval  $[u, v] \subset \mathbb{R}$ .

The basic properties of  $M_{r,s}(f; p; u, v)$  were studied in [2]-[9].

In this paper, we will define a generalized weighted functional mean for two parameters and prove its monotonicity. An explicit form is given for the special case when all variables have the special weights.

## 2. DEFINITION AND PROPERTIES

Throughout the paper we assume  $\mathbb{R}$  be a set of real numbers and  $\mathbb{R}_+$  a set of strictly positive real numbers. Let  $E \subset \mathbb{R}_+^n$  represent the simplex

$$E = \{(x_1, x_2, \dots, x_n) : \sum_{i=1}^n x_i \leq 1, x_i \geq 0, i = 1, 2, \dots, n\},$$

and  $x = (x_0, x_1, x_2, \dots, x_n)$ , where  $x_0 = 1 - \sum_{i=1}^n x_i$ . Let  $dx = dx_1 dx_2 \cdots dx_n$  denote the differential of the volume in  $E$ .

**Definition 2.1.** Let  $f$  be a positive real function and  $p$  a nonnegative integrable function on  $E$ , then the generalized weighted functional means of  $f$  with weight function  $p$  and two parameters  $r, s$  are defined by

$$(2.1) \quad M_{r,s}(f; p) = \begin{cases} \left[ \frac{\int_E p(x) f^r(x) dx}{\int_E p(x) f^s(x) dx} \right]^{\frac{1}{r-s}}, & r \neq s; \\ \exp \left\{ \frac{\int_E p(x) f^r(x) \ln f(x) dx}{\int_E p(x) f^r(x) dx} \right\}, & r = s. \end{cases}$$

**Lemma 2.1.** (see [6]) Suppose  $f, g \geq 0$  and  $p$  are integrable, and  $f/g$  is continuous on  $E$ . Then there exists at least one point  $v \in E$  such that

$$(2.2) \quad \frac{\int_E p(x) f(x) dx}{\int_E p(x) g(x) dx} = \lim_{x \rightarrow v} \frac{f(x)}{g(x)}.$$

We call Lemma 2.1 the revised Cauchy's mean value theorem in the integral form.

---

2000 *Mathematics Subject Classification.* Primary 26D15.

*Key words and phrases.* Weighted mean, two-parameter, inequality, Van der Monde determinant.

This paper was typeset using  $\mathcal{A}\mathcal{M}\mathcal{S}$ - $\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$ .

**Theorem 2.1.**  $M_{r,s}(f; p)$  has the following properties:

$$(2.3) \quad \alpha \leq M_{r,s}(f; p) \leq \beta;$$

$$(2.4) \quad M_{r,s}(f; p) = M_{s,r}(f; p);$$

$$(2.5) \quad M_{r,s}^{r-s}(f; p) = M_{r,t}^{r-t}(f; p) \cdot M_{t,s}^{t-s}(f; p);$$

where  $\alpha = \inf_{x \in E} f(x)$  and  $\beta = \sup_{x \in E} f(x)$ .

*Proof.* This follows from Definition 2.1, Lemma 2.1 and standard arguments.  $\square$

**Lemma 2.2.** (see [10, p. 26]) Let  $E \subset \mathbb{R}^n$ , and  $F(x), G(x) : E \rightarrow \mathbb{R}$  be integrable functions, satisfying  $(F(u) - F(v))(G(u) - G(v)) \geq 0$  for any  $u, v \in E$ . Furthermore, if  $g(x) : E \rightarrow [0, +\infty)$  is integrable, then

$$(2.6) \quad \int_E g(x)F(x)dx \int_E g(x)G(x)dx \leq \int_E g(x)F(x)G(x)dx \int_E g(x)dx$$

with equality holding if and only if  $F(x)$  and  $G(x)$  are constants. If  $(F(u) - F(v))(G(u) - G(v)) \leq 0$  for any  $u, v \in E$ , then the inequality (2.6) reverses.

Inequality (2.6) is called Tchebycheff's integral inequality.

**Theorem 2.2.**  $M_{r,s}(f; p)$  is increasing in both  $r$  and  $s$ .

*Proof.* If  $r = s$ , then

$$M_{r,r}(f; p) = \exp \left\{ \frac{\int_E p(x)f^r(x) \ln f(x)dx}{\int_E p(x)f^r(x)dx} \right\}.$$

By letting  $F(x) = \ln f(x) > 0, G(x) = \ln f(x) > 0, g(x) = p(x)f^r(x) > 0$  in Lemma 2.2, we obtain

$$\frac{d}{dr}(\ln M_{r,r}(f; p)) = \frac{\int_E p f^r dx \int_E p f^r \ln^2 f dx - [\int_E p f^r \ln f dx]^2}{[\int_E p f^r dx]^2} > 0.$$

If  $r \neq s$ ,

$$M_{r,s}(a) = \left[ \frac{\int_E p(x)f^r(x)dx}{\int_E p(x)f^s(x)dx} \right]^{\frac{1}{r-s}},$$

we have

$$\frac{d}{dr}(\ln M_{r,s}(f; p)) = \frac{1}{(r-s)^2} \left[ \frac{\int_E p f^r \ln f dx}{\int_E p f^r dx} \cdot (r-s) - \ln \left( \frac{\int_E p f^r dx}{\int_E p f^s dx} \right) \right].$$

Using the revised Lagrange's mean value theorem in the integral form, we get

$$\ln \left[ \frac{\int_E p(x)f^r(x)dx}{\int_E p(x)f^s(x)dx} \right] = \frac{\int_E p(x)f^\zeta(x) \ln f(x)dx}{\int_E p(x)f^\zeta(x)dx} \cdot (r-s),$$

with  $\zeta$  between  $p$  and  $q$ .

Let  $F(x) = f^{r-\zeta}(x) > 0, G(x) = \ln f(x) > 0, g(x) = p(x)f^\zeta(x) > 0$  in Lemma 2.2, we obtain

$$\frac{\int_E p(x)f^\zeta(x) \ln f(x)dx}{\int_E p(x)f^\zeta(x)dx} \cdot (r-s) < \frac{\int_E p(x)f^r(x) \ln f(x)dx}{\int_E p(x)f^r(x)dx} \cdot (r-s),$$

that is  $\frac{d}{dr}(\ln M_{r,s}(f; p)) > 0$ , and  $M_{r,s}(f; p)$  increases with both  $r$  and  $s$  since  $M_{r,s}(f; p) = M_{s,r}(f; p)$ . This completes the proof.  $\square$

**Theorem 2.3.** Let  $f$  be a positive real function and  $p_1, p_2$  nonnegative integral functions on  $E$  with  $(p_1(u)/p_2(u) - p_1(v)/p_2(v))(f(u) - f(v)) \geq 0$  for any  $u, v \in E$ , then

$$(2.7) \quad M_{r,s}(f; p_1) \geq M_{r,s}(f; p_2).$$

If  $(p_1(u)/p_2(u) - p_1(v)/p_2(v))(f(u) - f(v)) \leq 0$  for any  $u, v \in E$ , inequality (2.7) reverses.

*Proof.* Inequality (2.7) follows by taking  $g(x) = f^s(x)p_2(x), F(x) = p_1(x)/p_2(x)$  and  $G(x) = f^{r-s}(x)$  in Lemma 2.2.  $\square$

3. THE THREE-PARAMETER MEANS IN  $n$  VARIABLES

In this section, let  $\varphi$  be a continuous function on an interval  $\mathbb{I} \subseteq \mathbb{R}$ , and  $a_i \in \mathbb{I}$ ,  $a_i \neq a_j$  for  $i \neq j$ . Setting

$$(3.1) \quad V(a; \varphi) = \begin{vmatrix} 1 & a_0 & a_0^2 & \cdots & a_0^{n-1} & \varphi(a_0) \\ 1 & a_1 & a_1^2 & \cdots & a_1^{n-1} & \varphi(a_1) \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ 1 & a_n & a_n^2 & \cdots & a_n^{n-1} & \varphi(a_n) \end{vmatrix}.$$

Let  $\varphi(x) = x^{n+r} \ln^k x$  in (3.1), we have

$$(3.2) \quad V(a; r, k) = \begin{vmatrix} 1 & a_0 & a_0^2 & \cdots & a_0^{n-1} & a_0^{n+r} \ln^k a_0 \\ 1 & a_1 & a_1^2 & \cdots & a_1^{n-1} & a_1^{n+r} \ln^k a_1 \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ 1 & a_n & a_n^2 & \cdots & a_n^{n-1} & a_n^{n+r} \ln^k a_n \end{vmatrix}.$$

Note the case  $r = 0$  and  $k = 0$  is just the determinant of Van Der Monde's matrix of the  $n$ -th order:

$$(3.3) \quad V(a; 0, 0) = \sum_{i=0}^n (-1)^{n+i} a_i^n V_i(a) = \prod_{0 \leq i < j \leq n} (a_j - a_i),$$

where

$$(3.4) \quad V_i(a) = \begin{vmatrix} 1 & a_0 & a_0^2 & \cdots & a_0^{n-1} \\ 1 & a_1 & a_1^2 & \cdots & a_1^{n-1} \\ \cdots & \cdots & \cdots & \cdots & \cdots \\ 1 & a_{i-1} & a_{i-1}^2 & \cdots & a_{i-1}^{n-1} \\ 1 & a_{i+1} & a_{i+1}^2 & \cdots & a_{i+1}^{n-1} \\ \cdots & \cdots & \cdots & \cdots & \cdots \\ 1 & a_n & a_n^2 & \cdots & a_n^{n-1} \end{vmatrix} \quad (0 \leq i \leq n).$$

Let  $\ln a = (\ln a_0, \ln a_1, \dots, \ln a_n)$ , we denote

$$(3.5) \quad V(\ln a; r, k) = \begin{vmatrix} 1 & \ln a_0 & \ln^2 a_0 & \cdots & \ln^{n-1} a_0 & a_0^r \ln^k a_0 \\ 1 & \ln a_1 & \ln^2 a_1 & \cdots & \ln^{n-1} a_1 & a_1^r \ln^k a_1 \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ 1 & \ln a_n & \ln^2 a_n & \cdots & \ln^{n-1} a_n & a_n^r \ln^k a_n \end{vmatrix}.$$

**Lemma 3.1.** [16] *If  $n \in \mathbb{N}$ , a function  $\varphi$  be a  $n$ -th differentiable function on interval  $\mathbb{I} \in \mathbb{R}_+$ , then*

$$(3.6) \quad V(a; \varphi) = V(a; 0, 0) \int_E \varphi^{(n)} \left( \sum_{i=0}^n a_i x_i \right) dx.$$

**Definition 3.1.** *The three-parameter mean  $E_{r,s,t}(a)$  is defined by*

$$(3.7) \quad E_{r,s,t}(a) = \begin{cases} \left[ \frac{\int_E M_t^r(a; x) dx}{\int_E M_t^s(a; x) dx} \right]^{\frac{1}{r-s}}, & t(r-s) \neq 0; \\ \exp \left\{ \frac{\int_E M_t^r(a; x) \ln M_t(a; x) dx}{\int_E M_t^r(a; x) dx} \right\}, & t \neq 0, r = s; \\ \left[ \frac{\int_E G^r(a; x) dx}{\int_E G^s(a; x) dx} \right]^{\frac{1}{r-s}}, & t = 0, r \neq s; \\ \exp \left\{ \frac{\int_E G^r(a; x) \ln G(a; x) dx}{\int_E G^r(a; x) dx} \right\}, & t = 0, r = s \neq 0; \\ \exp \{ n! \int_E \ln G(a; x) dx \}, & t = r = s = 0; \end{cases}$$

where  $M_r(a; x) = [a_0^r + \sum_{i=1}^n (a_i^r - a_0^r) x_i]^{1/r} = (\sum_{i=0}^n a_i^r x_i)^{1/r}$ , and  $M_0(a; x) = G(a; x) = \prod_{i=0}^n a_i^{x_i}$ .

**Theorem 3.1.** *Let  $r, s, t \in \mathbb{R}$ , then  $E_{r,s,t}(a)$  is increasing with both  $r$  and  $s$ .*

*Proof.* This theorem follows from Definition 3.1, Theorem 2.2 and standard arguments.  $\square$

**Theorem 3.2.** *we have*

$$(3.8) \quad E_{r,s,t}(a) = \begin{cases} \left[ \prod_{k=1}^n \left( \frac{kt+r}{kt+s} \right) \cdot \frac{V(a^t; r/t, 0)}{V(a^t; s/t, 0)} \right]^{\frac{1}{r-s}}, & t(r-s) \prod_{k=1}^n [(kt+r)(kt+s)] \neq 0; \\ \left[ (-1)^{j+1} \frac{j}{n!} \cdot \binom{n}{j} \prod_{k=1}^n (kt+s) \cdot \frac{V(a^t; -j, 1)}{V(a^t; s/t, 0)} \right]^{\frac{-1}{j^t+s}}, & \\ \quad t(r-s) \prod_{k=1}^n (kt+r) \neq 0, r = -jt, 1 \leq j \leq n; \\ \left[ (-1)^{j-k} \frac{j}{k} \binom{n}{j} \binom{n}{k}^{-1} \cdot \frac{V(a^t; -j, 1)}{V(a^t; -k, 1)} \right]^{\frac{1}{(k-j)^t}}, & \\ \quad t(r-s) \neq 0, r = -jt, s = -kt, 1 \leq j \neq k \leq n; \\ \exp \left\{ \frac{V(a^t; r/t, 1)}{V(a^t; r/t, 0)} - \frac{1}{t} \sum_{j=1}^n \frac{1}{j+r/t} \right\}, & t \prod_{k=1}^n [(kt+r)(kt+s)] \neq 0, r = s; \\ \exp \left\{ \frac{V(a^t; r, 2)}{2V(a^t; r, 1)} - \sum_{j=1, j \neq k}^n \frac{1}{j-k} \right\}, & t \neq 0, r = s = -kt, 1 \leq k \leq n; \\ \left[ \frac{s^n}{r^n} \cdot \frac{V(\ln a; r, 0)}{V(\ln a; s, 0)} \right]^{\frac{1}{r-s}}, & (r-s)rs \neq 0, t = 0; \\ \left[ \frac{n!}{r^n} \cdot \frac{V(\ln a; r, 0)}{V(\ln a; 0, n)} \right]^{1/r}, & r \neq 0, t = s = 0; \\ \exp \left\{ \frac{V(\ln a; r, 1)}{V(\ln a; r, 0)} - \frac{n}{r} \right\}, & r = s \neq 0, t = 0; \\ \left( \prod_{i=0}^n a_i \right)^{1/(n+1)}, & t = r = s = 0; \end{cases}$$

where  $a = (a_0, a_1, \dots, a_n) \in \mathbb{R}_+^{n+1}$ ,  $a^t = (a_0^t, a_1^t, \dots, a_n^t)$ ,  $\ln a = (\ln a_0, \ln a_1, \dots, \ln a_n)$  and  $a_i \neq a_j$  for  $1 \leq i \neq j \leq n$ .

*Proof.* For  $t \neq 0$ , setting two functions

$$\varphi_1(r, t; x) = \begin{cases} \prod_{k=1}^n (k+r/t)^{-1} x^{n+r/t}, & r+kt \neq 0, 1 \leq k \leq n; \\ [(-1)^{k+1} (k-1)! (n-k)!]^{-1} x^{n-k} \ln x, & r+kt = 0, 1 \leq k \leq n, \end{cases}$$

$$\varphi_2(r, t; x) = \begin{cases} \prod_{k=1}^n (k+r/t)^{-1} x^{n+r/t} \left( \ln x - \sum_{j=1, j \neq k}^n \frac{1}{j+r/t} \right), & r+kt \neq 0, 1 \leq k \leq n; \\ [(-1)^{k+1} (k-1)! (n-k)!]^{-1} x^{n-k} \ln x \left( \frac{\ln x}{2} - \sum_{j=1, j \neq k}^n \frac{1}{j-k} \right), & r+kt = 0, 1 \leq k \leq n; \end{cases}$$

then  $\varphi_1^{(n)}(r, t; x) = x^{r/t}$ , and  $\varphi_2^{(n)}(r, t; x) = x^{r/t} \ln x$ .

Let  $f^r(x) = \varphi_1^{(n)}(r, t; x)$ ,  $f^s(x) = \varphi_1^{(n)}(s, t; x)$ , and  $f^r(x) \ln f(x) = \varphi_2^{(n)}(r, t; x)$ . Then this theorem follows from Definition 3.1, Lemma 3.1 and straightforward computation.

For  $t = 0$ , taking  $\varphi_1(r; x) = r^{-n} e^{rx}$ ,  $\varphi_2(r; x) = r^{-n} x e^{rx} - nr^{-n-1} e^{rx}$ , then  $\varphi_1^{(n)}(r; x) = e^{rx}$ ,  $\varphi_2^{(n)}(r; x) = x e^{rx}$ , which similarly imply Theorem 3.2.  $\square$

**Remark 3.1.**  $E_{r,s,t}(a)$  include that Alzer mean  $J_r(a)$ , Stolarsky mean  $S_r(a)$ , Pečarić-Šimić mean  $S_{r,t}(a)$  and two-parameter mean  $E_{r,s}(a)$  in  $n+1$  variables  $a_0, a_1, \dots, a_n$  are defined in [12]-[17], i.e.

$$(3.9) \quad J_r(a) = E_{r,r-1,1}(a) = E_{r,r-1,1}(a) = \frac{\int_E A^r(a; x) dx}{\int_E A^{r-1}(a; x) dx},$$

$$(3.10) \quad S_r(a) = E_{r,0,1}(a) = \begin{cases} [n! \cdot \int_E A^r(a; x) dx]^{\frac{1}{r}}, & r \neq 0; \\ \exp \{n! \cdot \int_E A^r(a; x) \ln A(a; x) dx\}, & r = 0; \end{cases}$$

$$(3.11) \quad J_{s,t}(x) = E_{r,r-1,t}(a) = \begin{cases} \frac{\int_E M_t^r(a; x) dx}{\int_E M_t^{r-1}(a; x) dx}, & t \neq 0; \\ \frac{\int_E G^r(a; x) dx}{\int_E G^{r-1}(a; x) dx}, & t = 0. \end{cases}$$

$$(3.12) \quad S_{r,t}(a) = E_{r,0,t}(a) = \begin{cases} [n! \cdot \int_E M_t^r(a; x) dx]^{\frac{1}{r}}, & tr \neq 0; \\ \exp \{n! \cdot \int_E \ln M_t(a; x) dx\}, & t \neq 0, r = 0; \\ [\int_E G^r(a; x) dx]^{\frac{1}{r}}, & t = 0, r \neq 0; \\ \exp \{n! \cdot \int_E \ln G(a; x) dx\}, & r = t = 0; \end{cases}$$

and

$$(3.13) \quad E_{r,s}(a) = E_{r,s,1}(a) = \begin{cases} \left[ \frac{\int_E A^r(a; x) dx}{\int_E A^s(a; x) dx} \right]^{\frac{1}{r-s}}, & r \neq s; \\ \exp \left\{ \frac{\int_E A^r(a; x) \ln A(a; x) dx}{\int_E A^r(a; x) dx} \right\}, & r = s; \end{cases}$$

respectively, where the notions of  $E, M_t(a; x), G(a; x)$  are the same as in the Definition 3.1. We have also

$$(3.14) \quad J_r(a) = \begin{cases} \frac{r}{n+r} \cdot \frac{V(a, r; 0)}{V(a, r-1; 0)}, & r \neq 0, -1, \dots, -n; \\ \frac{V(a, 0; 0)}{nV(a, -1; 1)}, & r = 0; \\ \frac{r}{n+r} \cdot \frac{V(a, r; 1)}{V(a, r-1; 1)}, & r = -1, \dots, -(n-1); \\ \frac{-nV(a, 0; 1)}{V(a, -n-1; 0)}, & r = -n; \end{cases}$$

$$(3.15) \quad S_r(a) = \begin{cases} \left[ \frac{n!}{\prod_{k=1}^n (k+r)} \cdot \frac{V(a; r, 0)}{V(a; 0, 0)} \right]^{\frac{1}{r}}, & r \neq 0, -1, -2, \dots, -n; \\ \exp \left\{ \frac{V(a; 0, 1)}{V(a; 0, 0)} - \sum_{k=1}^n \frac{1}{k} \right\}, & r = 0; \\ \left[ \frac{n! \cdot V(a; r, 1)}{(-1)^{r+1} (-r-1)! \cdot (n+r)! \cdot V(a; 0, 0)} \right]^{\frac{1}{r}}, & r = -1, \dots, -n; \end{cases}$$

$$(3.16) \quad J_{r,t}(a) = \begin{cases} \prod_{k=1}^n \left( \frac{kt+r-1}{kt+r} \right) \cdot \frac{V(a^t; rt, 0)}{V(a^t; (r-1)/t, 0)}, & t \prod_{k=1}^n [(kt+r)(kt+r-1)] \neq 0; \\ (-1)^{j+1} j \cdot \frac{1}{n!} \cdot \binom{n}{j} \prod_{k=1}^n (kt+r-1) \cdot \frac{V(a^t; -j, 1)}{V(a^t; (r-1)/t, 0)}, & t \prod_{k=1}^n (kt+r-1) \neq 0, r = -jt, 1 \leq j \leq n; \\ (-1)^{j-k} \frac{j}{k} \binom{n}{j} \binom{n}{k}^{-1} \cdot \frac{V(a^t; -j, 1)}{V(a^t; -k, 1)}, & t \neq 0, r = -jt, (k-j)t = 1, 1 \leq j, k \leq n; \\ \left( \frac{r-1}{r} \right)^n \cdot \frac{V(\ln a; r, 0)}{V(\ln a; r-1, 0)}, & r(r-1) \neq 0, t = 0; \\ \frac{n!V(\ln a; 1, 0)}{V(\ln a; 0, n)}, & r = 1, t = 0; \\ \frac{(-1)^n V(\ln a; 0, n)}{n!V(\ln a; -1, 0)}, & r = 0, t = 0; \end{cases}$$

$$(3.17) \quad S_{r,t}(a) = \begin{cases} \left[ \frac{n! \cdot t^n}{\prod_{k=1}^n (kt+r)} \cdot \frac{V(a^t; r/t, 0)}{V(a^t; 0, 0)} \right]^{\frac{1}{r}}, & t \neq 0, r \neq -kt, 0 \leq k \leq n, k \in \mathbb{N}; \\ \left[ \frac{(-1)^{k+1} kt \binom{n}{k} V(a^t; -k, 1)}{V(a^t; 0, 0)} \right]^{\frac{1}{-kt}}, & t \neq 0, r = -kt, 1 \leq k \leq n, k \in \mathbb{N}; \\ \left[ \frac{n!}{r^n} \cdot \frac{V(\ln a; r, 0)}{V(\ln a; 0, n)} \right]^{\frac{1}{r}}, & t = 0, r \neq 0; \\ \exp \left\{ \frac{V(a^t; 0, 1)}{V(a^t; 0, 0)} - \frac{1}{t} \sum_{k=1}^n \frac{1}{k} \right\}, & r = 0, t \neq 0; \\ \left( \prod_{i=0}^n a_i \right)^{1/(n+1)}, & r = t = 0; \end{cases}$$

and

$$(3.18) \quad E_{r,s}(a) = \begin{cases} \left[ \frac{\prod_{k=1}^n \left( \frac{k+r}{k+s} \right) \cdot \frac{V(a; r, 0)}{V(a; s, 0)} \right]^{\frac{1}{r-s}}, & (r-s) \prod_{k=1}^n [(k+r)(k+s)] \neq 0; \\ \left[ \frac{(-1)^{s+1} (-s-1)! (s+n)!}{\prod_{k=1}^n (k+r)} \cdot \frac{V(a; r, 0)}{V(a; s, 1)} \right]^{\frac{1}{r-s}}, & r \neq s = -1, -2, \dots, -n; \\ \left[ \frac{(-1)^{r-s} (-s-1)! (s+n)!}{(-r-1)! (r+n)!} \cdot \frac{V(a; r, 1)}{V(a; s, 1)} \right]^{\frac{1}{r-s}}, & r \neq s; r, s = -1, -2, \dots, -n; \\ \exp \left\{ \frac{V(a; r, 1)}{V(a; r, 0)} - \sum_{k=1}^n \frac{1}{k+r} \right\}, & r = s \neq -1, -2, \dots, -n; \\ \exp \left\{ \frac{V(a; r, 2)}{2V(a; r, 1)} - \sum_{k=1, k \neq -r}^n \frac{1}{k+r} \right\}, & r = s = -1, -2, \dots, -n; \end{cases}$$

where  $a = (a_0, a_1, \dots, a_n) \in \mathbb{R}_+^{n+1}$ ,  $a^t = (a_0^t, a_1^t, \dots, a_n^t)$ ,  $\ln a = (\ln a_0, \ln a_1, \dots, \ln a_n)$  and  $a_i \neq a_j$  for  $1 \leq i \neq j \leq n$ .

**Theorem 3.3.** *If  $E_{r,s,t}(a)$  be the three-parameter mean, then*

- (a)  $E_{r,s,t}(a) = E_{s,r,t}(a)$ ;
- (b)  $\lim_{r \rightarrow \infty} E_{r,s,t}(a) = \lim_{s \rightarrow \infty} E_{s,r,t}(a) = \lim_{t \rightarrow \infty} E_{r,s,t}(a) = a_{\max}$ ;
- (c)  $\lim_{r \rightarrow -\infty} E_{r,s,t}(a) = \lim_{s \rightarrow -\infty} E_{s,r,t}(a) = \lim_{t \rightarrow -\infty} E_{r,s,t}(a) = a_{\min}$ ;
- (d)  $\lim_{r \rightarrow s} E_{r,s,t}(a) = E_{r,r,t}(a)$ ;
- (e)  $a_{\min} \leq E_{r,s,t}(a) \leq a_{\max}$ ;
- (f)  $E_{r,s,t}(a) = a_0$  if and only if  $a_0 = a_1 = \dots = a_n$ ;
- (g)  $E_{r,s,t}(ta) = tE_{r,s,t}(a)$ ,  $t > 0$ , when  $ta = (ta_0, ta_1, \dots, ta_n)$ ;
- (h)  $(E_{r,s,t}(a))^{r-s} = (E_{r,u,t}(a))^{r-u} \cdot (E_{u,s,t}(a))^{u-s}$ .

#### REFERENCES

- [1] F. Qi, *Generalized weighted mean values with two parameters*, Proc. Roy. Soc. London. Ser. A 454 (1998), no. 1978, 2723-2732.
- [2] F. Qi and Sh.-Q. Zhang, *Note on monotonicity of generalized weighted mean values*, Proc. Roy. Soc. London Ser. A 455 (1999), no. 1989, 3259-3260.
- [3] F. Qi, *Monotonicity results and inequalities for the gamma and incomplete gamma functions*, submitted for publication.
- [4] F. Qi, *Studies on Problems in Topology and Geometry and on Generalized Weighted Abstracted Mean Values*, Thesis submitted for the degree of Doctor of Philosophy at University of Science and Technology of China, Hefei City, Anhui Province, China, Winter 1998. (Chinese).
- [5] F. Qi, L.-H. Cui and S.-L. Xu, *Some inequalities constructed by Tchebychev's integral inequality*, submitted for publication.
- [6] F. Qi and L. Debnath, *Inequalities of power-exponential functions*, Intern. J. Math. Math. Sci. 23 (2000), in the press.
- [7] F. Qi and B.-N. Guo, *Inequalities for generalized weighted mean values of convex function*, submitted for publication.
- [8] F. Qi and Zh. Huang, *Inequalities of the complete elliptic integrals*, Tamkang Journal of Mathematics 29 (1998), no. 3, 165-169.

- [9] F. Qi, S.-L. Xu and L. Debnath, *A new proof of monotonicity for extended mean values*, Intern. J. Math. Math. Sci. 22 (1999), no. 2, 415-420.
- [10] J.-Ch. Kuang, *Applied Inequalities (Changyong Budenshi)*, 2nd edition, Hunan Education Press, Changsha, China, 1993 (Chinese).
- [11] G. H. Hardy, J. E. Littlewood and G. Pölya, *Inequalities*, 2nd edition, Cambridge University Press, Cambridge, 1959.
- [12] Zh.-G. Xiao and Zh.-H. Zhang, *The Stolarsky mean of  $n$  positive numbers*, Journal of Yueyang Normal University, 2001,14(4):5-8 (Chinese).
- [13] Zh.-G. Xiao and Zh.-H. Zhang, *The Henleman mean of  $n$  positive numbers*, Journal of Yueyang Normal University, 2001,14(2):1-5 (Chinese).
- [14] J. Pečarić and V. Šimić, *Stolarsky–Tobey Mean In  $n$  Variables*, Math. Ineq. App. 1999,2(3), 325-341.
- [15] Zh.-H. Zhang, *Three Classes of New Means in  $n + 1$  Variables and Their Applications*, Journal of Hunan Educational Insitute, 1997, Vol.15, No.5(Chinese).
- [16] Zh.-G. Xiao, Zh.-H. Zhang, V. loksha and Rong Tang, *Two-Parameter The Mean of  $n$  Variables*, Intern. Review of Pure & Appl. Math., 1(2005), no. 1, 93–111. (India)
- [17] Zh.-G. Xiao, Zh.-H. Zhang, and F. Qi, *A new type of mean values of several positive numbers with two parameters*, submitted.

(Zh.-G. Xiao) HUNAN INSTITUTE OF SCIENCE AND TECHNOLOGY, YUEYANG, HUNAN 423400, P. R. CHINA  
*E-mail address:* xzgzzh@163.com

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU, HUNAN 423400, CHINA  
*E-mail address:* zxzh1234@163.com

(V. Loksha) DEPARTMENT OF MATHEMATICS, ACHARYA INSTITUTE OF TECHNOLOGY, SOLDEVAHNALLI, HESARAGATTA ROAD, KARNATAKA BANGALORE-90 INDIA  
*E-mail address:* lokiv@yahoo.com

(K. M. Nagaraja) DEPARTMENT OF MATHEMATICS, SRI KRISHNA INSTITUTE OF TECHNOLOGY, CHICKABANAVARA, HESARAGHATTA MAIN ROAD, KARNATAKA BANGALORE-90, INDIA.